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COMMERCE
Business Statistics
Paper : 204

~ Full Marks : 80

Time : Three hours

The figures in the margi'n indicate full marks -
for the questions.

Answer either in English or in Assamese.

Answer questions nos. 1, 2 and 3 and
any four from the rest.
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(i) - State whether the profit margins of a
company during the last eight years

constitute statistical data or not. 1
I Ca ke CIS A cA B P e S B VST B
SRR ©Y WA 757 [{wold T |
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(i) Fill in the blank -
| Select the correct answer - | 1

e oy fNeffon ) -

If the correlation between x and y is negative

then the regression coefficient of x on yis:

(1)  positive (4wieRF)
(h)  negative (erere)
(¢) not certain (Sff5s)

Data collected for the first ‘time are
called ____ 1

UM AW AR RPEO ST ____ @ |
(iii) Which of the following relations is not |
true ? I
ST TCEY I (TSI 50 ey wmy o,
(@) O, =Median (SiEgs)
Fill in the blank :
wiEl 213 e

The  independent variate values in
interpolation and extrapolation are termed
as 1

@@(WW?@FI"H—WWW
I R =)

(b)) By =Median (siEgs) |
(¢) Dy =Median (Sx51)
(@) D5 =Median (w1

(iv) What is the relationship between the standar
deviations of the following two series ?

WW@@W%W%W
& 9

F(wi) ill in the blank -

10, 20, 30, 40, 50, 80, 120 o1 5% sp
I, 2, 3 4, 5 8 12 e '
| and () ’ ’ Cost of living index numbers are also known
as 1
§at feiiz < Joaces e T |
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Mention mwo situations in which census
survey is a must. 2

i1 751 ARFYR =1 Brard w1 R w51 ARR e
et s wsifRgr| |

(viii) Select the correct answer

@W@Wﬁﬁ!ﬂw:

The component of time series associated
the sale of wool and umbrells is :

%WW%%@?F(%@@E
ToAINHT e

(@) secular trend (RIS 2]eNeY) ]
(b) irregular variations (Afoes wifamret)
(c) cyclical 'Variations (5F SISO

What do you mean by Kurtosis ? 2

PP @l e B et o

Find E (X) for the following probability
distribution of X, 2

x<ﬁm®fww@mmwmmﬁm

™l
(d)  seasonal variations (gfa% SIESIO! X 0 1 2 3
. - e ] 13 3 g
(ix) If A is a sure event, what is the probabilif Poog g g 3
- of occurrence of the event 4 ? |
T A <51 Fifse ool B (ST L T5eY) 4 : What is type I error ? 2
TSI B 2 N 25T & F 9

(x) Mention the parameter of Poisson probabilif Mecntion swo properties of correlation

distribution. cocfficient. 2
RO IR TR AT S <o | NN AR 757 45 Bra 3|
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3. Answer any four parts of the following - What is skewness ? Explain the different

| 5x44 types of skewness.
mﬁ@mwﬁhw‘ﬁ%‘mﬁ%: Wﬂmmﬁwﬁ?wmmﬁrm
(@  Write a note op the limitations of statis HINCAT 1t <y
ﬁﬁwmﬁ@ma%mwm@%qﬁm L

I'4, B ang C are Mmutually exclusjye and
(6) - Explain briefly the yse of diagramg
presenting statistica] data.

TR O Goigioie fag ARG

exhaustjve events, and P(4) = %P(B) and

I’(B):%P(C), find P(4), P(8) and p(c)

BIRIZ 1 <5 :

b | W A, B gy TR ReifeRe s e
(¢) Determine mode for the followj 4B ap 1

_ I e P(4) =2 ES

distribution - ) 2 ~(B)

) 2
O TV M T el - | AB) =3 P(C), COLRTT P(4), P(B) e
Marks : =5 610 1415 1699 915 26-30 3] P(C) Ty 3=y

DEE
No. of Students : 7 10 16 32 24 18
RIg ) .

What is a control chart 2 Explain the reason
for 30 control limits for 5 control chart. -

Marks : 36-40 4145 ez 5 s ? g B 34 et sy e |
s _ P 201 <t ;
No. of Students :5 1 |
RIG ey
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‘ , iation -
4. (a) Calculate mean and standard deviatior What do you mean by correlation between

the following distribution : 3+ (o variables ? Mention the Tiffegent types
oo Wl OO AT K BF e of correlation. 242=4
faefa =1 ﬁﬁsﬂaﬁawmﬁm%w ? Rfey
Profit : 20-30 30-40  40-50 50-60 6 AP TR e |
(Rs. in lakh) The Fpllowing data are about sales and
e (71 5ae) advertisement expenditures of a firm :
No. of companies: 30 58 62 85 14 Beld OUAYR G Fhig ﬁ@w O [ere
TR AR |
Profit : 70-80 80-90  90-100 Sules (Rs. in crores)  Advt. Exp. (Rs. in crores)
(Rs. in lakh) A ety (il Sore)  Fremtony < (=I5 Bre)
1S (714 531o) 40 6 |
. . 112 57 26 7
No. of companies " dwvinton 10 L

RENE A

(b) " Differentiate between primary data
secondary data.

Y Oy S (T O TS A

The correlation coefficient » = 0.9

HRTIH QM = (0.9

(i) Estimate the likely sales fof the
proposed advertisement expenditure of
Rs. 10 crores.

Reetoq e a1 @i 10 @I G
HICATF TRy R 3oy e =sa1
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(i) What would be the advertisemg
expenditure if the firm fixes a s4
target of 60 crores of rupees ? 3+

% PR 60 oIfS B RS 7
I (SLAZTE ﬁw'»’m B ffﬁsrm
aAifa 2

6. (@) Production in a sugar mill is given belg

Fit a linear trend by the methqd of le
squares and estimate the production for

year 2014.

@B (51 o B wwfﬁmi’aﬂ?gﬂ@‘&1
AT Gl FAIRT TS S 1 ¢

2014 B9 AT TR« ST

Year : 2006 2007 2008 2009 2010 2011 24

BES . A
Production : 40 45 46 42 47
(In thousand :
quintals)

e ¢

49

((z&Ig $30e10) 5+1]

(b) Writé a brief note on the usefulness of in

numbers.

PR TGS T 5 5 (it o

4 (Sem-2) BUST 10

State the multiplicative law of probability
and illustrate it with an example.  244=6

A ey T e b1 Swrercr 2y
| | :

Define mathematical expectation of a
tandom variable,

“Ilyfoes beTer weea oy |

I a business a man can make a profit of
Rs. 6,00,000 with a probability of 0.3, or have
i loss of Rs. 2,00,000 with a probability of
0.7. What is his cxpected profit ?  [43=4

W1 S G Wiy 6,00,000 51 sre
P4 TGRS 0.3 Wi (ody 2,00,000 B!
CAIEBIT (RIIT @It 0.7 (ST AT ey
[l 9

What is a binomial probability distribution ?
Mention the properties ‘of this distribution.

2+4=6
bt st <57 & » 3 75 Ty Trer

Al |

k() 11 5% of clectric bulbs manufactured by a

vtompany are defective, find the probability
that in a sample of 100 bulbs
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() none is defective, (i) 5 bulbs
defective. [Given : ¢=5 = 0.007] 2-+2

M A B IR Beot z=r
AR 5% @hye =3, cors 100 B
ARG <t afend @ie () «Bre Fye fu
IS T2, (i) B @hye R e =
oSt ek =01 [t @ o = 0,007

9. (@) What is an index number ? Write down #
formulae of Laspeyres’, Paasche’s ag
Fisher’s index numbers, 13

BT W & 2 AASroRE, A o
RIS HALHRG! i | ]

(b)  Write short notes on : ' Ix 2
SR fore |
()  Level of significance j
Aol W

(i) Usefulness of interpolation in Commen

AT ST AR |
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